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GUESS PAPER-2013

Class-XII 

Subject : - MATHEMATICS
Section – A (10 x 1 = 10 marks
1. Solve tan(1x+tan(13 = tan(18

2. Prove that 
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3. For what value of a, 
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is singular.

4. A square matrix A, of order 4 has 
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5. Construct a 3x2 matrix whose elements are given by 
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6. If y = Ae5x+Be(5x, then prove that y2(25y = 0

7. Prove that the logarithmic function is strictly increasing on 
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8. Find the area of the parallelogram determined by the side vectors 
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9. 
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10. Find the intercepts made by the plane 
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on the co-ordinate axes.
Section – B (12 x 4 = 48 marks
11.  (a)Define a binary operation 
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 on the set A = {0,1,2,3,4,5} as  a
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b = 
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      Show that zero is the identity for this operation and each element ‘a’ of the set is invertible with 6-a being the inverse of ‘a’.



(OR)
                                                                            (b)Consider the binary operation ( on the set {1,2,3,4,5, 6} defined by  a(b = max{a,b}. Write the operation table of the operation (. Find the identity element if any
12. Solve for x  if 
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13. (a)Show that  
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(OR)                                      (b)Prove that 
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14. If  Sin y = x sin ( a + y ) , with Cos a ≠ 1, Prove that   
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15. Determine the  value of  ‘a’  so that f(x) = 
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                                           is continuous at  x = 0

16. Find intervals in which the function given by  
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                            is (a) strictly increasing (b) strictly decreasing
17. (a)Evaluate 
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   (OR)      (b)  Evaluate 
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18. Evaluate 
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19. Evaluate 
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20. If a = i + j ; b = j + k  ;  c = k + i  ; d = i + j + k , verify that 
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21. Find the point of intersection of the lines 
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22. From a lot of 30 bulbs which include 6 defectives, a sample of 4 bulbs is drawn at random with replacement. Find the probability distribution of the number of defective bulbs

Section – C (7 x 6 = 42 marks

23. Solve the following equations   x+y+z = 3 ; x(2y+3z = 2  and 2x(y+z = 2
24. A point on the hypotenuse of a triangle is at a distance a and b from the sides of the triangle. Show that the maximum length of the hypotenuse is 
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25. (a) Sketch the region common to the circle x2+y2=8 and the parabola x2=4y. Also find the area of the common region using integration.                                    (OR) 



                     (b) Using integration, find the area of the triangle bounded by the lines x+2y=2, y(x = 1and 2x+y = 7
26. Solve (3xy+y2)dx + (x2+xy)dy=0
27. If a machine is correctly set up, it produces 90% acceptable items. If it is incorrectly set up, it produces only 40% acceptable items. Past experience shows that 80% of the set ups are correctly done. If after a certain set up, the machine produces 2 acceptable items, find the probability that the machine is correctly setup.
28. A manufacturer produces nuts and bolts. It takes 1 hour of work on machine A and 3 hours on machine B to produce a package of nuts. It takes 3 hours on machine A and 1 hour on machine B to produce a package of bolts. He earns a profit of Rs17.50 per package on nuts and Rs 7.00 per package on bolts. How many packages of each should be produced each day so as to maximise his profit, if he operates his machines for at the most 12 hours a day?
29. Find the length of the foot of perpendicular drawn from the point (2,(1,5) to the line 
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. Also find its image.
                                                  WISH YOU ALL THE BEST
D. VASU RAJ, CHENNAI.
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